
Arkusz1

Strona 1

Nr zjazdu Strona Nawierzchnia UWAGI

Wykaz zjazdów 

Prawa kostka bet. 4,00 4,42 25,70

Prawa kostka bet. Skos 1:1 3,00 3,74 13,86

Prawa kostka bet. Skos 1:1 4,00 3,58 14,35

Prawa kostka bet. Skos 1:1 3,50 3,60 12,73

Prawa kostka bet. Skos 1:1 5,50 2,83 18,14

Lewa kostka bet. Skos 1:1 4,50 2,33 13,25

Prawa kostka bet. Skos 1:1 3,50 3,06 11,89

Prawa kostka bet. Skos 1:1 3,50 2,95 11,50

Lewa kostka bet. Skos 1:1 4,00 2,90 14,40

Lewa kostka bet. Skos 1:1 3,00 3,13 12,34

Prawa kostka bet. Skos 1:1 3,50 2,75 10,79

Prawa kostka bet. Skos 1:1 3,50 2,69 10,57

Lewa kostka bet. Skos 1:1 4,50 3,75 19,63 +dojście 1,00m

Prawa kostka bet. Skos 1:1 3,50 4,05 17,07

Prawa kostka bet. Skos 1:1 4,50 4,41 22,57

Lewa kostka bet. Skos 1:1 3,50 3,12 12,13

Prawa kostka bet. 5,00 5,51 33,72

Lewa kostka bet. 5,00 5,70 37,58

Prawa kostka bet. Skos 1:1 4,00 2,20 11,63 +dojście 0,80m

323,85

Rodzaj 
włączenia

Szerokość  
B [m]

Długość w 
osi L [m]

Pow. [m2]

Zd 1-1 Rl=Rp=5,00

Zd 1-2

Zd 1-3

Zd 1-4

Zd 2-1

Zd 2-2

Zd 2-3

Zd 2-4

Zd 2-5

Zd 2-6

Zd 2-7

Zd 2-8

Zd 2-9

Zd 2-10

Zd 2-11

Zd 2-12

Zd 2-13 Rl=Rp=5,00

Zd 2-14 Rl=Rp=5,00

Zd 2-15

User
Pisanie tekstu
27



Arkusz1

Strona 2

Nr zjazdu Strona Nawierzchnia UWAGI

Wykaz zjazdów 

Prawa kostka bet. 4,00 4,42 25,70

Prawa kostka bet. Skos 1:1 3,00 3,74 13,86

Prawa kostka bet. Skos 1:1 4,00 3,58 14,35

Prawa kostka bet. Skos 1:1 3,50 3,60 12,73

Prawa kostka bet. Skos 1:1 5,50 2,83 18,14

Lewa kostka bet. Skos 1:1 4,50 2,33 13,25

Prawa kostka bet. Skos 1:1 3,50 3,06 11,89

Prawa kostka bet. Skos 1:1 3,50 2,95 11,50

Lewa kostka bet. Skos 1:1 4,00 2,90 14,40

Lewa kostka bet. Skos 1:1 3,00 3,13 12,34

Prawa kostka bet. Skos 1:1 3,50 2,75 10,79

Prawa kostka bet. Skos 1:1 3,50 2,69 10,57

Lewa kostka bet. Skos 1:1 4,50 3,75 19,63 +dojście 1,00m

Prawa kostka bet. Skos 1:1 3,50 4,05 17,07

Prawa kostka bet. Skos 1:1 4,50 4,41 22,57

Lewa kostka bet. Skos 1:1 3,50 3,12 12,13

Prawa kostka bet. 5,00 5,51 33,72

Lewa kostka bet. 5,00 5,70 37,58

Prawa kostka bet. Skos 1:1 4,00 2,20 11,63 +dojście 0,80m

323,85
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